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1. EXF, am bYl'eflc‘] @) | §-clectyom vule (h)electym defic.‘enf Cmnfoomd (%)
R.G vitic3e the Statement that the G0 lattice s an exanple of bocy—(e?z tered
tubic packing. (3%)
3. EXP/Aa‘n br:‘ef/g wko‘( the. i)"On—C(‘] anide frameurm% @[ Taurnbull 5. blue ¢ e ane
AStnat of Pussian blue. &)
4 (what s Zhe bovd order of Zhe bond in each of the ﬁ/ém‘nf species 1 Give
brief explanation . (&) 0, b) Not ) oa” . (98)
'y Ex[J/aifn MJ [Mn_(fo)q. NO] s o[/'f/\ma(jﬂezf,'c . (5)
6. Calcwilate e 5//‘71-—0%@ maj’)zez‘fc momen £ j[ [~ Fef _I&’?ﬂ//’//\’- Gsk) ( f%/
7. 74¢ values p.f fkq ﬁy‘ H; POs and H3A503 are 2.0 and ﬁZ/Yf;ﬂ?cz‘fVe/J,
Drawr the Leuris structures Sfor Lhem . (F%)
8. Write down e Jérmit/a_ of the con fﬂgaz‘e base ff each ff-//?fo/ém‘y acids -
@ H;B0s (b) VO () HsI0g (8%)
T What element in the second feriod of e periodic table <o a tsefu/
window material| in X—mc‘} diffraction Sf’PCfm”’t’fF}’ ¢ W‘A(]7 (3%)
[0. @) Is CuzxO @ m-type or o p-type Sem/‘(ma’ﬂff/‘?g oxide MJ? (#%)
(b) Wrhat is e effect T[ /‘%CYeafl‘mO‘[ w%em pressure o the conductiyi f/o‘t
of g 07 RP)
1. Predict and dvaw e /igand freld splitting of o orbitals < (@) an
ac-tahedral Mbé &rmp/e)(‘}(b) A cubic Mlg [am/o/w( (&%) )
2. Draw out a// éf Zpe 5€ameﬁ)»,‘(a/ and Offiml 1 Someys g[@(en)(/%)zBrCG,(K%)
(3. (amplete Zhe J[o//DW“I\’)lJ Yeactiona :
@ 0.+ RFe —>
) HeZt +oH —>
(€) BexC + Hi0) ——
@) Ma(co)sBr + Re(C0)y ——
©) Cev)a + OH™ —> (/270)
) By + Fo + OH (6M) ——>

4. List Sfowr sf Jas C[rvmata? raphic. c/ez‘ea‘m'f: (479
[5. Discuss the possible veasms which cause the deviation of Zhe

___Absorbance of a sample solutim

the Beer’s [aw:. (%)
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&iven
Re(s) ———=Ry (3)
- Relg) ———=Rtapte
F2(3) >2F(§)
F(3)+e —> F~(§)
Flgh 2R,(5) ——>2 R (s)

[6. Descyibe brief /0'1 the basic principle of #he ESCA technigue . (#%)
7. A somple feldspar gives the fo//om‘nd'i percentage analysis 2 K:0 /6905

AbDs 18.28% 5 S0, 64740 What is the empirical formala of foldspar !
(At.Wt. K390, AR: 2498, S : afo0f , O: /6,00) %)

8. Calewlate the pH belowr which FeS will ot fe precipitated When one

Ritey of solution m{amh‘g 1.0 9 g[/";ﬁ a4 Fotly o Saturated with

Mol Sothat THS] =00l . (hWe. Fe: 5585, Kperg) = 40 %077,
Kats) = 1.0 X107, Kaths-)=/3 xo

1. Calpulate e lottice energy of KeF.
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